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QUESTION 1

What is the IBM App Connect Enterprise Toolkit?

A. A high availability management tool

B. A command-line interface for App Connect integration

C. A web user interface for accessing integration server resources
D. A graphical user interface for message flow development

Correct Answer: A

QUESTION 2

What is the recommended minimum number of machines required for the smallest OpenShift v4 cluster?
A. 1 temporary bootstrap machine, 3 control plane machines, and at least 2 worker/compute machines
B. 1 temporary bootstrap machine, 1 control plane machine, and at least 2 worker/compute machines

C. 1 control plane machine and at least 3 worker/compute machines

D. 1 temporary bootstrap machine and 1 control plane machine

Correct Answer: B

QUESTION 3

To ensure no information is lost in an MQ cluster, what is the recommended number of queue managers that should be
specified as full repositories?

A. One

B. Two

C. Equal to the number of partial repositories
D. None

Correct Answer: B

QUESTION 4
Which statement describes Tekton?

A. ltis an integrated OpenStack program which aims to provision bare metal machines from the OpenShift Container
platform
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B. It is a Block Storage service for providing volumes to virtual machines, bare metal hosts, containers and more

C. Itis an Open Source project that allows provisioning, managing and running virtual machines from and within
Kubernetes environments like OpenShift

D. It is an open source project that provides a framework to create cloud-native CI/CD pipelines quickly

Correct Answer: C

QUESTION 5

What is CRI-O?

A. A Windows .NET compatibility library available in the OpenShift Developer Catalog

B. A Kubernetes native container runtime implementation that integrates closely with CoreOS

C. The graphical user interface for Operators to administer applications/workloads running on OpenShift D. An optional
version of Docker optimized for OpenShift when running on cloud provider platforms

Correct Answer: B
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